Exponent Rules (A)

Simplify each expression.
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Exponent Rules (A) Answers

Simplify each expression.
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Exponent Rules (B)

Simplify each expression.
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Exponent Rules (B) Answers

Simplify each expression.
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Exponent Rules (C)

) 52
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) 2—7 . 29

Simplify each expression.
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Exponent Rules (C) Answers
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Simplify each expression.

2. (_3)0
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Exponent Rules (D)

Simplify each expression.
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Exponent Rules (D) Answers

Simplify each expression.
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Exponent Rules (E)

Simplify each expression.
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Exponent Rules (E) Answers

Simplify each expression.
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Exponent Rules (F)

Simplify each expression.

10. 32 . (_4)2
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Exponent Rules (F)) Answers

Simplify each expression.

(=3)" - (=6)° v (=6
(~6)¢
— 188 = (—6)"
(=7)" ) ()7
(=)
=(-7)"=1 s L
- ( 4> - <_4)15
5! * (=6 (=6)
52
-3 __ 1 o -2 _ 1
= TR =07 = Cop
(92)6 8. (58)—7
_ g2 56 i
7—3 10 32 . (_4)2
™
_pu_ L = (12
=1 et

Math-Drills.com




Exponent Rules (G)

Simplify each expression.
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Exponent Rules (G) Answers

Simplify each expression.
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Exponent Rules (H)
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Simplify each expression.

2. (83)4

Math-Drills.com




Exponent Rules (H) Answers

Simplify each expression.
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Exponent Rules (I)

.67

Simplify each expression.

2. 29

23
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Exponent Rules (I) Answers
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Simplify each expression.

10.
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Exponent Rules (J)

. 8—6 . 8—7

Simplify each expression.
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Exponent Rules (J) Answers

Simplify each expression.
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